OES9138 3HP 1PH Base Assembly

Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-base-assembly



https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-base-assembly

Description

Index
Number

10

11

12

13

14

17

18

19

20

21

22

23

27

Part
Number

OES-001

OES-002

OES-002C

OES-0020

OES-002D

OES-002AC

OES-002A0

OES-002E

OES-002BC

OES-002BO

OES-003

TS-2246082

OES-004

TS-1550041

TS-1551041

TS-2246162

OES-005

TS-1550071

TS-1551071

TS-1491041

OES-006

OES-007

TS-2210451

OES-008

OES-009

TS-1551031

TS-2245162

OES-010

OES-011

Description

Machine Base

Magnetic Motor Starter
Contactor (not shown)
Overload (not shown)
Magnetic Motor Starter
Contactor (not shown)
Overload (not shown)
Magnetic Motor Starter
Contactor (not shown)
Overload (not shown)
Oscillating Unit Cover
Socket Head Button Screw
Support Bracket

Flat Washer

Lock Washer

Socket Head Button Screw
Mounting Foot

Flat Washer

Lock Washer

Hex Cap Screw

Rubber Foot Pad

Platen Casting

Hex Cap Screw

Sanding Belt (local purchase)
Graphite Pad

Pad Retaining Plate

Lock Washer

Socket Head Button Screw
Lt. Sanding Guard Bracket

Rt. Sanding Guard Bracket

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-base-assembly

Size

1Ph, 230V
1Ph, 230V
1Ph, 230V
3Ph, 230V
3Ph, 230V
3Ph, 230V
3Ph, 460V
3Ph, 460V

3Ph, 460V

M6 x 8

M6

M6

M6 x 16

M10

M10

M10 x 30

M10 x 45

M5

M5 x 16

Qty

15
13

13

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-base-assembly

29
33
36
37
38
39

40

includes part
no

41

45

46

47
48
49

50

Additional Information

OES-012

OES-013

OES-014

TS-1504031

TS-1541031

OES-015

OES-016

OES-SAA

Belt Guard

Guard Plate

"U" Handle

Socket Head Cap Screw
Nylon Lock Hex Nut
Hand Knob

Lifting Eyebolt

Switch Arm Assembly (previous to s/n
13120ES91380056 only;

OES-17 and OES-19)

OES-017

OES-017A

OES-018

OES-019

OES-019A

OES-094

OES-095

TS-2283061

OES-096

OES-097

OES-098

OES-098A

OES-099

OES-100

Switch Arm

Switch Arm (s/n 13120ES91380056 and higher)
Rubber Pad

Start/Stop Switch

Start/Stop Switch (s/n 13120ES91380056 and higher)
Clipper (Female)

Clipper (Male)

Phillips Flat Head Machine Screw

Hand Knob

Rear Door with Latch (not shown)

Strain Relief for Power/Motor Cord (not shown)
Strain Relief for Power/Motor Cord (not shown)
Strain Relief for Switch Cord to Switch (not shown)

Strain Relief for Switch Cord to Cabinet (not shown)

M8 x 16

M8

M3 x 6

174"

1PH

3PH

Stock Number

Products in this set

1791282-1

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-base-assembly

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-base-assembly

